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Troubleshooting Memory keys by teleservices

You can not to make the key storage via Teleservice, the procedure does not terminate correctly:

1) Be sure you are using the correct keys kit ( 2 Keys + ide 1+ide2 + pin source+ meccanical code).

• For this operation can not be used the keys parts.

• Be careful not to use the keys of range € 3

• Be careful not to use the keys without transponders (only mechanical)

• If point 1 has been complied

• You should read the memory faults in the VCM and check if have present errors :
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WHAT YOU NEED WHEN REPLACING THE VCM ON A VEHICLE WITH 
IMMOBILIZER
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DTC FMI DESCRIPTION FAULT SOLUTION / POSSIBLE CAUSES

B4

02 Impossible Programming The TRANSPONDER keys Transponder key defective, or you are using a key without transponder

0B Impossible Programming The TRANSPONDER keys Transponder key defective, or you are using a key without transponder

0C PING SOURCE different between the two keys The two keys of the kit must have the same Pin source, but id code is different. This means that the keys have 
been mixed with those of another kit.

0D IDE code is been read 2 time, or is same zero Ide code of the keys can not be read, verify that you are not using a key without a transponder, then only 
mechanical

0E Exceeded the max number of programmable keys you are trying to add the keys in a VCM, which has already stored inside 7 Keys

B5
02 Key on out of time The key was kept on for a long time throughout the procedure of memo key .

0B Code IDE kit unknown Code of KIT IDE differently than the one known and stored by the VCM. Probably you are using a key of 
another Kit

B6
0C No communication with ECM the VCM not receive any feedback from ECM, verify  the supply ECM and line can between ECM and VCM

0D ECM unknown ECM with another code Immobilizer inside, different from VCM

0E IMMOBILIZER function is not enabled in ECM Reprogram ECM via Teleservice to enable the immobilizer.

B7

02 ECU VCM PLANT MODE, HAS NOT YET keys stored inside Make a memory keys in VCM.

0B ECM in PLANT MODE, memory keys already completed The ECM is not yet married to VCM, has not yet stored inside the immobilizer code that sent the VCM. Check 
line can between VCM and ECM.If you replaced the ECM, make the procedure Recognition of new ECM with 
Easy.

B8 02 ECU VCM PLANT MODE (no keys stored). Procedure and 
storage keys active

The VCM can not memory keys inside, try another kit of keys

B9

02 FEEDBACK from TRASPONDER wrong you using a different transponder key with es x € 3, or interference disturbance from mobile phone.

07 Hardware error on the antenna Antenna faulty, not correctly positioned. Check the resistance of the antenna (about 9.9 hom between pin 1 
and x1-x1-3 of the VCM.

0B Inside error of the ECU Defective inside of VCM, try replacing

0C No feedback from the keys TRASPONDER Means that the VCM not get any response from the transponder.
This could be: keys with faulty transponder / keys already stored on another VCM / Key used without 
transponder (mechanical)
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                 VCM   Troubleshooting Memory keys by teleservices

1. CASE: VCM WITH ALREADY 2 KEYS STORED

2. CASE: PROBLEMS OF ANTENNA

3. CASE: YOU ARE USING THE KEYS PARTS (WRONG KEYS)

4. CASE: YOU ARE USING BETWEEN TWO KEYS mixed KIT
5. CASE: YOU ARE USING THE  KEYS  ALREADY  STORED ON ANOTHER VCM
6. CASE: YOU ARE USING THE  KEYS  WHITOUT  TRASPONDER (MECHANICAL)

We have 6 situation where FAILS THE PROCESS FOR PROGRAMMING KEYS:
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PREMISE:

For cases where you can not successfully complete Storing keys BY
Teleservice, it is VERY IMPORTANT TO GO TO CONSULT THE READING
FAULT MEMORY OF ECU VCM.

That because, when the procedure for storing keys does not end correctly, the VCM gives us 
always at least 2 Faults:

• 1 PRESENTE 
• 1 INTERMITTENTE

The fault present, will always make refers to the fact that the VCM has not yet get any key 
(PLANT MODE).

The Intermittent Fault instead, it will be essential to understand why the storage 
procedure fails.

            VCM   Troubleshooting Memory keys by teleservices
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VCM   Troubleshooting Memory keys by teleservices

1 CASE: VCM WITH ALREADY 2 KEYS STORED
THE VCM inside it has already stored the keys, so it is 
only possible to add keys via easy by stand-alone
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VCM   Troubleshooting Memory keys by teleservices

2 CASE: PROBLEMS OF ANTENNA

Error during memory keys
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VCM   Troubleshooting Memory keys by teleservices

This fault DTC: B7 FMI: 02 indicates that the VCM 
is IN THE STATE IN WHICH IT IS NOT 'STILL ABLE 
TO GET THE STORAGE OF 2 KEYS.

The DTC: B9 FMI: 07 shows a hardware problem es: 
antenna defective,
not correctly positioned or one of the two pins 
unconnected in VCM X1, CHECK THE RESISTANCE OF 
ANTENNA (9.9 hom APPROXIMATELY between pin X1-1 
and X1-3 of the VCM.

2 CASE: PROBLEMS OF ANTENNA
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VCM   Troubleshooting Memory keys by teleservices

3 CASE: YOU ARE USING THE KEYS PARTS (WRONG KEYS)

The correct procedure, requires the use of keys with different ide, pin source the same for both keys

Error during memory keys
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VCM   Troubleshooting Memory keys by teleservices

This fault DTC: B7 FMI: 02 indicates that the VCM 
is IN THE STATE IN WHICH IT IS NOT 'STILL ABLE 
TO GET THE STORAGE OF 2 KEYS.The DTC: FMI B4: 0C indicates that PIN THE SOURCE OF 

THE TWO KEY AND 'DIFFERENT or equal to 0,
There is not  inside of the keys. In fact we were using 
parts of the keys (3 keys) that does not have inside source 
your PIN

3  CASE: YOU ARE USING THE KEYS PARTS (WRONG KEYS)

In practice, I'm using the wrong keys
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VCM   Troubleshooting Memory keys by teleservices

4. CASE: YOU ARE USING BETWEEN TWO KEYS mixed KIT

The correct procedure, requires the use of keys with different ide pin and source the same for both keys

Error during memory keys
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VCM   Troubleshooting Memory keys by teleservices

This fault DTC: B7 FMI: 02 indicates that the VCM 
is IN THE STATE IN WHICH IT IS NOT 'STILL ABLE 
TO GET THE STORAGE OF 2 KEYS.

The DTC: FMI B4: 0C indicates that PIN THE SOURCE OF 
THE TWO KEY AND 'DIFFERENT or equal to 0, There is 
not  inside of the keys
In our case we were USING THE KEYS FROM TWO 
DIFFERENT KIT, therefore with two DIFFERENT 
PINSOURCE between a key and the other.

4 CASE: YOU ARE USING BETWEEN TWO KEYS mixed KIT
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VCM   Troubleshooting Memory keys by teleservices

5 CASE: YOU ARE USING THE  KEYS  ALREADY  STORED ON ANOTHER VCM
 

The correct procedure, requires the use of keys with different ide pin and source the same for both keys

Error during memory keys
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VCM   Troubleshooting Memory keys by teleservices

This fault DTC: B7 FMI: 02 indicates that the VCM 
is IN THE STATE IN WHICH IT IS NOT 'STILL ABLE 
TO LEARNING THE STORAGE OF 2 KEYS.

The DTC: B9 FMI: 0C indicates that the VCM receives no 
response from the transponder. This could be:
Key with transponder defective
Keys already stored on another VCM

5 CASE: YOU ARE USING THE  KEYS  ALREADY  STORED ON ANOTHER VCM
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VCM   Troubleshooting Memory keys by teleservices

6 CASE: YOU ARE USING THE  KEYS  WHITOUT  TRASPONDER (MECHANICAL)

The correct procedure, requires the use of keys with different ide pin and source the same for both keys

Error during memory keys
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VCM   Troubleshooting Memory keys by teleservices

This fault DTC: B7 IMF: 02 indicates that the VCM 
is IN THE STATE IN WHICH IT IS NOT 'STILL ABLE 
TO GET THE STORAGE OF 2 KEYS.

The DTC: B9 FMI: 0C indicates that the VCM receives no 
response from the transponder. This could be:
Key with transponder defective
Keys already stored on another VCM
Key used without transponder (mechanical)

6 CASE: YOU ARE USING THE  KEYS  WHITOUT  TRASPONDER (MECHANICAL)


